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__unchanged_portion_onitted_

6106 /*

6107 * Allocate the ahci_port_t including Received FI'S and Conmand Li st.
6108 * The argunent - port is the physical port nunber, and not | ogical
6109 * port nunber seen by the SATA franework.

6110 */

6111 static int

6112 ahci _all oc_port_state(ahci _ctl_t *ahci_ctlp, uint8_t port)

6113 {

6114 dev_info_t *dip = ahci_ctl p->ahcictl_dip;

6115 ahci _port_t *ahci _portp;

6116 char taskq_nane[ 64] = "event_handl e_t askq";

6118 ASSERT( MUTEX_HELD( &hci _ct | p- >ahci ct| _nut ex))

6120 ahci _portp =

6121 (ahci _port_t *)kmem zal | oc(si zeof (ahci_port_t), KM SLEEP);
6123 ahci _ctl p->ahcictl _ports[port] = ahci_portp;

6124 ahci _port p->ahci port_port_num = port;

6126 /* Initialize the port condition variable */

6127 cv_i ni t (&hci _port p->ahci port_cv, NULL, CV_DRI VER NULL);

6129 /* Initialize the port nmutex */

6130 mut ex_i ni t (&hci _port p->ahci port _nutex, NULL, MJTEX_DRI VER,

6131 (void *)(uintptr_t)ahci _ctlp->ahcictl_intr_pri);

6133 mut ex_ent er (&ahci _port p- >ahci port _nut ex) ;

6135 /*

6136 * Allocate nenory for received FIS structure and

6137 * command list for this port

6138 *

6139 if (ahci_alloc_rcvd_fis(ahci_ctlp, ahci_portp) != AHCl _SUCCESS) {
6140 goto err_casel;

6141 }

6143 if (ahci_alloc_cnd_list(ahci_ctlp, ahci_portp) != AHCl _SUCCESS) {
6144 goto err_case2;

6145 }

6147 /* Setup PxCMD. CLB, PxCMD.CLBU, PxCMD.FB, and PxCMD. FBU */

6148 if (ahci_setup_port_base_addresses(ahci _ctlp, ahci_portp) !=
6149 AHCI _SUCCESS)

6150 goto err_case3;

6151 }

6153 (void) snprintf(taskg_name + strlen(taskg_nane),

6154 si zeof (taskq_nane) - strlen(taskqg_nane),

6155 " _port%", port);

6157 /* Create the taskq for the port */

6158 if ((ahci_portp->ahciport_event_taskq = ddi _taskq_create(dinp,
6159 taskg_nane, 2, TASKQ DEFAULTPRI, 0)) == NULL) {

6160 crm_err (CE_WARN, "!ahci %d: ddi_taskq_create failed for event
6161 "handl e", ddi _get_instance(ahci _ctlp->ahcictl_dip));
6162 goto err_case3;

6163 }
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6165 /* Allocate the argunent for the taskq */

6166 ahci _port p->ahci port _event _args =

6167 knmem zal | oc(si zeof (ahci_event_arg_t), KM SLEEP);
6169 ahci _port p->ahci port _event _ar gs->ahci ea_addrp =
6170 kmem zal | oc(si zeof (ahci_addr_t), KM SLEEP);
6172 i f (ahci _portp->ahciport_event_args == NULL)

6173 goto err_case4;

6172 /* Initialize the done queue */

6173 ahci _port p->ahci port _doneq = NULL;

6174 ahci _port p->ahci port_doneqtai | = &ahci _port p->ahci port_doneq;
6175 ahci _port p->ahci port _doneq_l en = 0;

6177 mut ex_exi t (&ahci _port p->ahci port _nut ex) ;

6179 return (AHCI _SUCCESS);

6184 err_case4:

6185 ddi _t askqg_destroy(ahci _port p->ahci port_event _taskq);
6181 err_case3:

6182 ahci _deal | oc_cnd_li st (ahci _ctlp, ahci_portp);

6184 err_case2:

6185 ahci _deal | oc_rcvd_fis(ahci _portp);

6187 err_casel:

6188 nmut ex_exi t (&ahci _port p->ahci port_nut ex) ;

6189 mut ex_dest r oy( &bhci _port p->ahci port _nut ex);

6190 cv_destroy(&ahci _port p->ahci port_cv);

6192 kmem free(ahci _portp, sizeof (ahci_port_t));

6194 return (AHCI _FAI LURE);

6195 }
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